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SOURCES OF INFORMATION OFF A GRAPH!	



1.) Take data straight off;	
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SOURCES OF INFORMATION OFF A GRAPH!	



1.) Take data straight off;	



2.) Look at the slope and it 
changes;	
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Δy = 4m

Δt = 4sec
slope = Δy

Δt
= = 4 m

4 sec
         = instantaneous velocity at t=10
         = 1 m/s

y
  (m)

t (sec)

What is the velocity at t =10 seconds?	



SLOPE OF THE GRAPH!	
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SOURCES OF INFORMATION OFF A GRAPH!	



1.) Take data straight off;	



2.) Look at the slope and it 
changes;	



3.) Look at the area under 
curve.	



v
  (m/s)
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SOURCES OF INFORMATION OFF A GRAPH!	



1.) Take data straight off;	



2.) Look at the slope and it 
changes;	



3.) Look at the area under 
curve.	



Area under an “v. vs t” graph yields net position change over a time interval	



Area under a “a. vs t” graph yields net velocity change over a time interval	



Δv = 8 m/s

Δt = 4s

area = change of position over 4 second interval
        = Δv( ) Δt( ) = 8 m/s( ) 4 s( ) = 32 m

v
  (m/s)
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SOURCES OF INFORMATION OFF A GRAPH!	



1.) Take data straight off;	



2.) Look at the slope and it 
changes;	



3.) Look at the area under 
curve.	
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v
  (m/s)

t (sec)

What is the distance traveled between t =8 and 
t = 16 seconds?	



AREA UNDER THE GRAPH!	



area 1	



area 2	



net displacement = net area under curve
                            = area 2 - area 1( )
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y
  (m)

t (sec)



1.) As position versus time graph:	



4 8 12 16 20

−4

−8

4

8 body standing still at x = 8 m	



body standing still at x = -8 m  	


   (i.e.: slope of graph is zero)	



body moving through origin at t =10 sec	



body moving with constant, positive 
velocity while in negative region	



Δx = 4 m

Δt = 2.3 s

body moving with constant, positive 
velocity while in positive region	



vconstant =
Δx
Δt

=
4 m
2.3 s

= 1.7 m/s

acceleration non-zero	



acceleration zero	



y
  (m)

t (sec)


